

Udai. Pratap. College, Varanasi

(Autonomous Institution) NAAC Re-accredited B Grade

--<u>e-content</u>

- 1. Subject: Mathematics
- 2. Class: B. Sc. I
- 3. Year/ Semester: Yearly
- 1. Unit: Four
- 2. Topic: Algebra
- 3. Sub topic: Normal Subgroup
- 4. Key words: Kernel , Normal Subgroup

Name: Dr. Rajiv Kumar Singh

Department: Mathematics

Address: Dept. of Mathematics, U. P. College, Varanasi

Email: <u>rksupc@gmail.com</u> Mobile No: 9451973531

Homomorphism:

Let G and \overline{G} be two groups, then a map from G into \overline{G} is called group homomorphism iff

$$f(ab) = f(a).f(b) \qquad \forall a, b \in G$$

- A homomorphism f from G into \overline{G} is called an isomorphism if f is one-to-one and represented by $G \approx \overline{G}$.
- A homomorphism of a group G into G itself is called an Endomorphism of G.
- An isomorphism of a group G onto itself is called an automorphism of G.

Theorem: The relation \approx of being isomorphic to in the set of all groups is an equivalence

relation.

Proof: Let G, G[']. G^{''}be groups.

Reflexive: The identity map $I: G \to G$ is an isomorphism, we have $G \approx G$ for every

group G.

 \Rightarrow the relation \approx is reflexive.

Symmetry: Let $G \approx G'$, then there exists a map $f: G \rightarrow G'$ which is an onto

isomorphism.

Thus $f^{-1}: G \to G$ is bijection, since f is bijection.

Now f^{-1} is a homomorphism, For if $f^{-1}(a') = a$ and $f^{-1}(b') = b$

where $a', b' \in G'$ and $a, b \in G$

then f(a) = a' and f(b) = b'

Therefore $f^{-1}(a \dot{b}) = f^{-1}\{f(a)f(b)\}$

 $= f^{-1}{f(ab)}$ since f is a homomorphism

= ab = $f^{-1}(a').f^{-1}(b')$

Thus f^{-1} is an isomorphism which is also onto

Hence $G \approx G' \implies G' \approx G$

i.e. the relation \approx is symmetric.

Transitive: Let $G \approx G'$ and $G' \approx G''$ then there exists map $\phi: G \to G'$ and $\psi: G' \to G''$ which

are isomorphisms.

Therefore $\phi o \psi : G \to G^{"}$ is an isomorphism and onto.

Thus
$$G \approx G'$$
 and $G' \approx G''$ $G \approx G'$ and $\Rightarrow G \approx$

i.e. relation \approx is transitive.

Hence \approx is equivalence relation.

Kernel of a homomorphism:

If f is a homomorphism of a group G into a group G' then a set K of all these elements of G which are mapped onto the identity e' of G' is called the Kernel of the homomorphism f i.e. if f is homomorphism of G into G', then K is the Kernel of f if

 $\mathbf{K} = \left\{ \begin{array}{c} x \in G : \quad \mathbf{f}(\mathbf{x}) = \mathbf{e}' \quad \text{where } \mathbf{e}' \text{ is the identity of } \mathbf{G}' \end{array} \right\}$

Normal Subgroup:

A subgroup H of group G is called normal subgroup of G if for every $x \in G$ and for every $h \in H$, $xhx^{-1} \in H$.

From this definition, we conclude that H is a normal subgroup of G iff $xHx^{-1} \subseteq H \quad \forall x \in G$

Every group G have at least two normal subgroups, G itself and the subgroup consisting of the identity element 'e' alone, These are called improper normal subgroups.

Theorem: A subgroup H of a group G is normal if and only if $xHx^{-1} = H$ $\forall x \in G$

Proof: Let $xHx^{-1} = H$ $\forall x \in G$

$$\Rightarrow xHx^{-1} \subseteq H \qquad \forall x \in G$$

H is a normal subgroup of G.

Conversely, let H is a normal subgroup of G.

$$\Rightarrow xHx^{-1} \subseteq H \quad \forall x \in G$$
Since $x \in G \Rightarrow x^{-1} \in G$

$$So \quad x^{-1}H(x^{-1})^{-1} \subseteq H \qquad \forall x \in G$$

$$\Rightarrow \quad x^{-1}Hx \subseteq H \qquad \forall x \in G$$

$$\Rightarrow \quad x(x^{-1}Hx)x^{-1} \subseteq xHx^{-1} \qquad \forall x \in G$$

$$\Rightarrow \quad H \subseteq xHx^{-1} \qquad \forall x \in G \qquad (2)$$
with the help of equation (1) and (2) $xHx^{-1} = H$

with the help of equation (1) and (2) $xHx^{-1} = H \quad \forall x \in G$.

Theorem: The intersection of any two normal subgroup is a normal subgroup.

Proof: Let H and K be any two normal subgroups of a group G.

Since H and K are subgroups of G therefore $H \cap K$ is also subgroup of G.

Let $x \in G$ and $n \in H \cap K$

We have $n \in H \cap K$ i.e. $n \in H$ and $n \in K$

Since H is a normal subgroup of G,

Then for $x \in G$, $n \in H \implies xnx^{-1} \in H$

Similarly $x \in G$, $n \in K \implies xnx^{-1} \in K$

i.e. $xnx^{-1} \in H$ and $xnx^{-1} \in K \implies xnx^{-1} \in H \cap K$

i.e. for every $x \in G$, $xnx^{-1} \in H \cap K$ we have $xnx^{-1} \in H \cap K$

Hence $H \cap K$ is a normal subgroup of G.

Theorem: If N is a normal subgroup of G and H is any subgroup of G, then prove that NH is a normal subgroup of G.

Proof: Let n_1h_1 and be any two elements of NH

Then $n_1, n_2 \in N$ and $h_1, h_2 \in H$

To prove, NH is a subgroup of G, we should prove that $(n_1h_1)(n_2h_2)^{-1} \in NH$

$$(n_1h_1)(n_2h_2)^{-1} = n_1h_1h_2^{-1}n_2^{-1}$$
$$= n_1h_1h_2^{-1}n_2^{-1}.h_2h_1^{-1}h_1h_2^{-1}$$
$$= n_1\left[(h_1h_2^{-1})n_2^{-1}(h_1h_2^{-1})^{-1}\right](h_1h_2^{-1})^{-1}$$

Now N is normal and $n_2^{-1} \in N$, $h_1 h_2^{-1} \in G \implies (h_1 h_2^{-1}) n_2^{-1} (h_1 h_2^{-1})^{-1} \in N$

Therefore $n_1 \left[(h_1 h_2^{-1}) n_2^{-1} (h_1 h_2^{-1})^{-1} \right] \in M_1$

Since H is a subgroup of G therefore

$$h_1 \in H$$
, $h_2 \in H$ \Rightarrow $h_1 h_2^{-1} \in NH$
 $\Rightarrow n_1 \Big[(h_1 h_2^{-1}) n_2^{-1} (h_1 h_2^{-1})^{-1} \Big] (h_1 h_2^{-1}) \in NH$

Hence NH is a normal subgroup of G.

Theorem: If f is a homomorphism of a group G into a group G' with kernel K, then K is a normal subgroup of G.

Proof: Let f be a homomorphism of a group G into a group G'. Let e, e' be the identities of G and G' respectively, If K be the kernel of f then

$$\mathbf{K} = \{ x \in G : \mathbf{f}(\mathbf{x}) = \mathbf{e}' \}$$

Since f(e) = e', therefore $e \in K$. Thus K is not empty.

Let $a, b \in K$, then $ab^{-1} \in K$, $f(b) = e^{b}$

So
$$f(ab^{-1}) = f(a)f(b^{-1})$$

= $f(a){f(b)}^{-1}$
= $e'{e^{-1}}^{-1}$
= $e'e'$
= e'

i.e. $ab^{-1} \in K$ for $a, b \in K$

therefore K is a subgroup of G.

Let $g \in G$ and $k \in K$ then $f(k) = e^{k}$

So
$$f(gkg^{-1}) = f(g)f(k)f(g^{-1})$$

$$= f(g)e'(f(g))^{-1}$$
$$= f(g)(f(g))^{-1}$$

i.e. $gkg^{-1} \in K$ for $g \in G$ and $k \in K$

Hence K is normal subgroup of G.

= e

Questions:

(1) If $f: G \to \overline{G}$ be a group homomorphism, then under f identities and inverse corresponds i.e.

(i) $f(e) = \overline{e}$ where e and \overline{e} are the identities of G and \overline{G} respectively.

(ii)
$$f(a^{-1}) = [f(a)]^{-1}$$
 $\forall a \in G$

(2) The composition of two homomorphism is also homomorphism.

- (3) The intersection of any collection of normal subgroups is itself a normal subgroup.
- (4) Every subgroup of an abelian group is normal.

Reference :

- 1. Modern Algebra by A.R. Vashistha
- 2. Abstract Algebra by Khanna & Bhambri
- 3. Algebra & trigonometry by Pandey

Declaration: The content is exclusively meant for academic purpose and for enhancing the teaching and learning. Any other use for economic /commercial purpose is strictly prohibited. The user of the content shall not distribute, disseminate of share it with anyone else and its use is restricted to advancement of individual knowledge. The information provided in this e-content is authentic and best as per knowledge.